a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

0.95

10?

i

0.9

1T

0 =15 -10

10 15 20
Vertex z (cm)

G(0 X) (um)

Ratio

10 15 20
Vertex z (cm)

a(0 x) tor merged vertices (um)

Ratio

10 15 20

|
a1
UIE

= W

R R B ? ‘?
00+~ ---f LEHLHE E AR
°55=15=10 —5 e 10530

Vertex z (cm)

85—=i5=10

10 15 20
Vertex z (cm)

o(0y) (um)

Ratio

0(0 z) (M)

Ratio

: ? ? l l nlLUll
e | T THTI

E

=~

10° =

10°E

R R S

10 15 20
Vertex z (cm)

L.UD!

I

15 20
Vertex z (cm)

0(0 y) tor merged vertices (Um)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10°E

10%

ITETE FEEEE FAETI FEETE FEETE FEETE PR SR
o

iy
|||||||||
i

[y
||||||||||||||||||

10 15 20

10 15 20
Vertex z (cm)



	Contents
	Page 1


